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1  Sarovar Ltd. has produced and sold 1000 units during the 20

year 2015 The information of 2015 was as under :

Particulars Amount Rs,
Materials .........coooeiiiiiiie e 12,50,000
DITECt WAZES ... uveiieeiiieiiiiie ittt 8,00,000
Factory overhead eXpenses ...........c..cccccevveeennee. 2,00,000
Administrative O/H expenses (fixed).................. 1,50,000

Selling distribution O/H exps. (40% fixed)....... 1,00,000

.................................................................... 30,00,000

The estiamtes for 2016 are as under :

(1)
2

3)
4)
)

Production and sale will be of 1500 units.

Material cost will be Rs. 1300 and direct wages will be
Rs. 1000 per unit.

The percentage of factory overhead expenses on direct wage
will be same as during last year.

Fixed selling distribution overhead expenses will increase by
Rs. 35000.

Selling price per unit will increase by 10% in comparison
to last year.

Prepare :

(1
2

1 (a)
(b)
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Statement of cost per unit and total cost of the year 2015.
Estimated cost statement of the year 2016.

OR
State the advantage of cost accounting. 10

Give the distingush. Financial Accounting and Cost 10
Accounting.

From the following information, calculate : 15
(1) Economic order quantity
(2) Reordering level
(3) Minimum level
(4) Maximum level
(5) Average level
(6) Danger level
(7) Safety level
Monthly consumption 1200 units
Cost of placing an order Rs. 180/-
Carrying cost per unit - 9%
Price per unit Rs. 40/-
5 [ Contd...
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Average usage per week - 300 units
Minimum usage per week - 250 units
Ordering period - 4 to 6 weeks
Minimum time period for
emergency purchase - 2 weeks
(b) Write a shortnote : Bincard. 5
OR
(a) From the following details, calculate labour turnover 15
rate and equivalent annual rate under :
(1) Separation method
(2) Replacement method
(3) Flux method
No. of employees at the beginning of the year - 150
No. of employees at the end of the year - 200
No. of employees resigned - 20
No. of employees discharged - 5
No. of employees replaced - 20
(b) Wnite a short note on 'Halsey plan'. 5
(a) Rangrasiya company has 5 departments, A, B, C are 15
production departments and D, E service departments.
The expense of a month as follows :
Rent-taxes 10000 Indirect wages 3000
Depriciation Electric charges 1200
on Machine 20000 General exp. 20000
Power expenses 3000
Information related to five dept. as follows :
Particulars Total Production dept. Service dept.
A B C D E
Land occupied (sq.ft.) 20000 | 4000 5000 6000 | 4000 | 1000
No. of light point 120 20 30 40 20 | 10
Direct wages 20000 6000 | 4000 6000 | 3000 | 1000
Horse power 300 120 60 100 20 -
Cost of machine 500000f 120000 | 160000{ 200000 10000 | 10000
Allocation of dept. "D" - 20% 30% 40% - 10%
Allocation of Dept. "E" - 40% | 20% 30% | 10% -
Prepare statement of allocation of overhead expenses.
(b) Write a short note on machine hour rate method. 5
OR
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3 (a) Shree Paramhans travelers owns a fleet of taxis and 15
the following information is available from records
maintained by him :

Number of taxis ......occovvviviieiiiieiieeceeee e, Nos. 10
Cost of each taxi ............ocoocvvvvviiiiiiii Rs. 2,40,000
Salary of manager ...........c............... Rs. 3,000 per month
Salary of accountant........................ Rs. 2,000 per month
Salary of cleaner ................cccoee. Rs. 1,500 per month
Salary of mechanics ....................... Rs. 2,500 per month
Garage rent .........cccoeeeeveeiiiiiie, Rs. 2,500 per month
Insurance Premium...........ccccoveeeeevvvieerieeeneeeennnnn. 5% p.a.
Annual tax ........ccoooeveiiiiee e Rs. 4,200 per taxi
Driver's salary ...........cccceeeevvveennnn.nn, Rs. 2,000 per month
Annual repairs............oeeeeeeivieiiineeene. Rs. 2,400 per taxi

Total life of a taxi is about 200000 kms. A taxi runs in
all 3000 kms. in a month and 30% of this distance has
to be run without any passenger. Petrol consumption is
one litre for every 10 kms. @ Rs. 30 per litre. Oil and
other sundries are Rs. 12 per 100 kms. Calculate the cost
of running a taxi per km.

(b) Wrte a short note on Service Costing. 5

4 (a) In a factory 10,000 units are introduced into a process 15
at a cost of Rs. 2,00,000 the total additional expenditure
incurred by the process is Rs. 3,30,000 From the past
experience, it is calculated that, of the units introduced
20% are normally spoilt in the course of manufacture In
this process scrap value of Rs. 5 per unit.

Prepare Process Accounts and Abnormal Loss and Gain
account if the output is as follows :

(1) 8000 units produced

(2) 7000 units produced

(3) 8400 units produced

Assume that abnormal wastage process the same value as
the normal wastage.

(b) Write a short note on by product. 5
OR
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4 (a) Discuss about merits and demerits of Job Costing. 10

(b) State the meaning of Batch Costing and also state 10
these methods utilized in which industries ?

5 (a) Parikshit obtained a contract for building a house for 15
Rs. 5000000. He started the work on 15t April, 2015. On
318t March, 2016 he finished 70% of work. He received
Rs. 2400000 being 80% of work certified from the house
OWReT.

From the following particulars for year ended 315t March
2016, prepare Contract Account and Work in Progress

Accounts.

Particulars Amount Rs.
Materials sent on Sit€ .............ccccccccviiieeeenennnn. 1,37,0000
Plant sent on SIt€ ..........ooooooiiiiiiiiiiiiiiieeeeeeeeeeeiinins 5,00,000
WaALES oo 10,00,000
DITeCt EXPENSES ..vvveeneeiiieeeeiiieee et ee e 3,00,000
INdirect EXPEnSES .......cceeeeeeeeieriiieeirieereeeenee e 2,00,000
Materials at site (31-3-2016) .......cccceviviiieiennnnnn 1,00,000

Additional information :

(1) On 18t QOctober 2015 materials of Rs. 60000 and plant
of Rs. 1,00,000 were stolen from site.

(2) Calculate the depreciation at 20% per annum on plant.

(3) Parikshit takes 2/3 of the profit on cash receipt basis
to Profit and Loss Account.

(b) Write a short note on 'Work in Progress Account'. 5
OR
5 (a) Explain the merits and demerits of Cost Audit. 10
(b) Explain about reconciliation of Cost and Financial 10
accounts.
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